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u 5 dnerisional Agect, Fiach when umen
o H11Y Jprectson shows 1ts 2 sardfeces 4025
it's Jepgih, Lresdth wnd height 501 zre soz2l It
s 517 surisers. Bach s‘mr?a.w Fozs & z2fncers
surfses and no tvo vppueite surfsces can e
ccen #t 3 single vyme. O 113 6 surfzres.
pumbess fromn 1 404 ave written ur thers coald
pe figures, indicotions or differens

shuwn o5 thern, Dice are of two types -
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() Btandard dice
(h) Ordinury dioz
) Fjwndard dice:in = ?;{andard dice, gumed
its any two upposite sides is 7, and notao
pdjsccnt sides con give sum of 7. Such
dive is knoan as standard dice, Live-

EREE

DICE

04 5= 11 1+2=2 G
H44=9 4+2=56 (\ /
Hs4=1]10 1+4=5 *é;mh,_ﬂj

(b) Ordinary dice: In an ordina:}gdicc;'any
two opposite surfaces can’t giveésumof 7,
Lut it’s adjacent sides may sf‘mip"’?, such
dice is known as ordinar: 'dic§,

Important facts:

1.  Any dice
or ording

o

1 baeategorized as standard
i e know only one face each
iP8urfaces. In such case it is
1€(o determine any two opposite
[ fhat dice.

]
In abave dice, which number will be
Upposite to 17

“;l we have 2 and 3 adjacent to 1, s0 both
of them can nevér be opposite to 1. But

Bol,
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Means:

5is opposite to 6

3 is opposite 10 ¢

And

2 is opposite to 1 (As we can see 2, 3, 4, 5
and 6 in Ggure and the number missing
is 1, hence number opposite to 21is 1)
Universal Rule: This rule can be applied
to any dice (standard ot ordinary}). It is
applicable when we have been given 2, 3
or 4 situations of a dice. To understand
this rule, let us see an example,

We have been provided with 3 situations
of a dice.
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After studying this figure we have to predict
which number is opposite to which
number, or we have to decipher value of
cach face of the dice shown. Now,
according to the rule, identify any two
situations in which we have only one digit
common. See fig. (1} and (3}. In both.of
them we have only one digit in commeon
i.e. 3. Now look at the fig. (1) and write the
numbers as you see clockwise, starting
fromm the common number. Here we have
3-1-5

Now look at the second selected figure
which has only 3 in common and write its
number, as we see clockwise starting from
the common number. Here we have
3-4-2

Now write both of them, one above the
other as

3-1-5

3-4-2

This implies 1 is opposite to 4, S is Oppysite
to 2. Now, only digit left is 6, and ‘that
would be opposite 10 our common number
3. By this method we can reveal all the
numbers within few seconds.

1 1
Which symbol will b ite to (1)?
Bol. From universal rul ill take fig (i) and

ymbols is common
two figures write the
clockwise from our

(1).

Hente, O is opposite to #, * is opposite to
O and the only symbol left is T which will
be opposite to our common symbol 1,

Sumetimes we are provided with an
explanatory diagram and after folding it
In a proper manner it forms a dice. Which
of the following dice will be formed from
the explanatory diagram given?

4
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iNasarlanles

(X) ) {an () (IV)

8ol. From the given figure, first we 1 fing

O

numbers on opposite faces. /‘t&

Like: . % '

ces, take alterngte
.¢. Take 2, then leaye
ce (i.e. 1} and then take 4.
égﬂtc to 4, similarly ] js
oppositeftQ 6farfd remaining numbers 5
and 3*513:“ pOsite to each other,

In cbcété, we can sce 1 and 6 which cannot
’ngé"‘ﬁo:;siblc as two opposite faces cannot
evseen at the adjacent side. Hence this
fdhicé cannot be obtained by folding the
g}:planatory diagram.
In dice II, we can see 5 and 3 which cannot
be possible as two opposite faces cannot
be seen at the adjacent side. Hence this
dice cannot be obtained by folding the

explanatory diagram.

In dice 1l1, we can see 2and 4 which cannot
be possible as two apposite faces cannot
be seen at the adjacent side. Hence this
dice cannot be obtained by folding the
explanatory diagram.

Indice IV, 6, 5 and 2 cannot be seen which
are the opposite faces of 1, 3 and 4
respectively. Hence our dice is dice IV.

Exercise:

Directions (1 - 4): In the questions given
below one dice has been shown in differeat
positions, whose sides have 1 to 6 digits
printed on them. Study the following
Positions and answer the following.

L.
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In the dice given below which number will
be on the opposite side to 3?

e e

(1)1 (2)6 35 (4) 4
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2. In the dice given below which number wil)

anawe
be on the opposite side Lo 67 ¥ the fOllowing questions.

(1)1 (2)2 (3) 3 4)4 8.
3 In the dice given below which number wil)
" be on the opposite side to 3?

aZoZo o

m
(1)1 (2) 2 (3) 4 (4, 6
4. In the given dice which number wil] be
on the opposite side to 3?7

I GIEH

m 10.

(1) 2 (2) 3 (3) 4 (4) 6
Directions (5 - 7): In the pictures given below

two positions of a single dice 18 shown. Each
side of the dice has dots (.) printed on it,

positions and answer the following questions

PP e

What will bt: lhe digit opposite to 22
(1)1 @4  @s @

{4) Can’t be determined. .
Dice given below has be in four
positions on which dlg{é%tp 6 has been
shown. What w1ll be pp@ne to digit 2 on

this dlce? _
Qh’ 1
()3 %le@) 4 @s e

I
A dicehas"heen-shown in two positions as
gwenubcibﬁv If the number of dots is 6 at

,\:.botsom;"l'hen what will be the number of

‘dots ‘on top of it?

R
which vary from one to six. Study the f?\gi
accordingly. € j ?;1 l 11

5. If there arc three dots at the bottoﬁheh'
how many dots will be on top? R 11

—
=,

(1) 1or5(2) 2 (3) 41% §'I4) 5
6. If the number of dots.xa*‘h'u)ec on top then
how many will be a@ottom‘?

(1)1 2 (2) 4 35 (@6
7.0 4 dots ‘are at bottom then what will be

r of dots on top? 13.

1) 3 (2) 2 (3) 5 (46
:::“c“‘“" {8 - 21): A dice has been shown in
e:"e than one positions. On their faces there
care l,‘:* digits/symbols/dots etc. Study

Uy the different positions given and
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14,

(1) 1 (2) 2 (3) 4 “s
A dice has been given below in two

positions. If number of dots on top is 1
then what will be the number of dots at

bottorn?

1 (2) 2 3) 3 (4) 6
In question 11, which number will be on
the opposite face to 67

(11 2)5 (3) 4
{4) Can’t be determined.

In question 11, what will be at the bottomn
face in position 1?

(1)1 2) 4 (3) S
{(4) None of these

If the number of dots is 3 at bottom then
what will be the number of dots on top?

n
(1) 2 (2} 1 (3)4 (4} 6




15.

16.

17.

18.

19,

e yoursmghbgqbdwondpre&sq@@mm Shown on 1,

n shown

positions. If the number of dot o
4 then what will be the number of do

bottom?

s on top is
s at
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(1) 2 (2) 3 (3)5 (4) 6

A dice has been shown below in two
positions. If the number of dots at bottom
is 2 then what WI" be the number of dots

on top?
I i
(1) 1 (2) 4 (3)5 46

A dice has been given below in two
positions. If the number of dots at bottom
is three then what will be the number of

of & dice. Which colour among the Cey
colours is left? ven

.@

{1) blue (2) green B __/:) _

.‘\ ;

Directions {22 - 29): In eaeh queation
explanatory figure of dice is :iven Study Yt
figure and identify the correct dice fory,
by that figure. o ed

22.

(3) yellow (4) violet +

(“)

(1) v

dots on top? { (.,\ :,’-"'
PP B DDE
. . -~ i::i’iw l n a

(1) 2 i2)3l (3) 4 ! (4;’: “f:*‘} x O an am  av

What will be the number of dots opposne
to the surface of 2 dots?

) R SR
PP GEVED

I 11 ?:m

{1) 1 (2) 4 (3} 5 (4)6
If the bottom ;if thedlcc shows 2 dots, then
what woulgl ke thc number of dots on its

top? 6 ((1}3’
v 7]
(1’1‘% )3 (3) 5 (4) 6

question mark?

CIES IR

@b "

(1)s @)U

(4) w

{1) I, IT and IV only
{2) 1, 11 and 11l only
(3) 11 only

(4) Il and IV only

24,

| o

= 69 (T

(av)

{11)]

X) %) an

(1} 1, and Il only

(2) 11, Il and IV only
(3) IV only

(4) 11l and IV only
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25
{3) only () and (d)

&}
E"C p ﬂ ﬂ 390, How Aty e
- ml r -
0 . . n a would 5",‘_."3’ IRMIMum number of Culoary
) 1]

. used 1o col .
dice « . Colour each surface of =
1 IV ¢ B0 that no two adjacent sudﬁthfvf

the suine colour?

{x) (13 2 _
(1)1 and Ml only 31. Which af ( }:8 (3} 4 615
(21, tand 1V only question rl?la?:q);l can come _\i_n pibce of
(3) It and IV only {4) il and IV only T

_'@i
¥

26. B~ F E.
P n D I £/iB
1 u . m v
4)@@ @@ (D @ F —13E

{4} can't by;e"éicu:rmined,

x) th b () @) 32. Below are ‘giveni explanatory figures of 2
(1) a and conly ‘-5ifli.::'fj—';"dic:%'k sHown in two ;ﬁion;ﬁ
(2) band d only dett;p;mm*:. the correct explanatory Dgure.
(3) band c only P - =
(4)b,cand d only P W,
| i
”? 5\"_ £ ’
<f. o i::-_-_:k
. \j (X} ox
2] @ @ 1Y w _[A @ [2]
2 . [E]CIB] C
el SO e
an @y D B
(1)1, 11, 0l and IV ?g@ B
(2}only 1 and 11 2%, (3} [A] (4} [A]
(3)only Il and 111 A 8|C|D[E [E{B|C]
@only LI, and Il A 30 F] F|
28, {'3 Dj
— £ Directions {33 - 35): Study all the positions
A -@’ 0"‘2 4‘23" of a dice an‘d answe’r the following: P
D|B[E], f E B i
S ] B <)
T ol @ @[V =2 [*]
X T B (©
(1) (a)and {b) only (2) only () I I I v
¥) a@‘(d] only (4) None of these
29, < 33. Which symbo! will be opposite to #?

7 3 @t ©% @x

1
A 2 ch ‘g % 09 -4115 34. Which symbol will be opposite to $7?
' 3 a) #
B EV/"E?/'E E me @1 l;# f’ |
35, Which symbol will be in opposite to &¥

0o @ ® @ @@ 2t @B s
(1) only (a) and (b) (2) only (a) me |
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Answer with Exp tion:

i i if we
1. 4; Accordingto the umvcn:sal r'u'lc, i
identify two positions in which we have

only one number in common then, we 8. 3; From positions | and 1], we get,
wilivwritc their sequence in clockwise 3-2-6
manner . After studying we come to lcn.ov:v 3 - 5 -4 _ )
that position | and 11l have only one digit Obviously, 2 is OpPposite 1o 3, 6 g
in common which is 2, Writing the se- site to 4, whereas 3 is Opposite @1
quence in clockwise direction writing g 3; Look at the positions | and I q‘*ﬂ%‘é ven
our common number first gives - 2 - 3 - dice. Two numbers‘ 3 & ‘;ﬁfﬁ:igo on
'1. And in position III we get — 2 - 4-3. in this case the third numbes Yisible in
So according to the rule 4 is opposite to position I will be Oppt}‘q‘fte;to the thirg
3. number visible in z?ugn II.
2. 1; Lookatthe positions I and IV of the given Thus, we ca @de that 2 is oppo-
dice. We get only number 2 as common. site to 5.
write down the numbers in clockwise 10.4; Here, 6 is cominarsurface.
direction starting from 2, we get 6-2-1
2-3-6 6-4-3 A3
2-4-1 _ Obvigysly, 2'is’opposite to 4, 1 is oppe.
Obviously, 6 is opposite to 1, 3 is oppo- sitg €03, whereas 6 is Opposite to 5.
site to 9 whereas 2 is opposite to 5. 11.4; Hcf‘l\!‘:-.'-; is common surface,
3. 3; Look at the positions 11l and IV of the Aix ':;N’s_'s
given dice. We get only number 5 as com- \ﬁr‘s -3
mon. Write down the numbers in clock- - . . -
wise direction starting from 5, we get t‘.}\\frgz"‘l‘:‘;l}’ » 1 is opposite to 6, 5 is oppo-
g ) E; ‘i Q whereas 2 is opposite o 4.
Obviously, 3 is opposite to 4. 6 op 2.1; Look at the explanation of the 11% queston
site to 1, whereas 5 is opposite Y .2.,/ 13.2 . _
4. 3, Leok at the positions Il and u glh‘géven 14.4; Look at the two positions of the dice. Two
' dice. We get only number S\fn\\common- surfaces (4 dots and 2 dots) are common.
Write down the numbers if Sockvise di- Hence, we can conclude that 6 dots sur-
rection starting from 5 {i.;g_ ¥ face is opposite to 3 dots surface.
5-4.92 Y, )5; 15.2; Here, 4 is cornmon surface,
$5-3-1 4-5-1
obviously, 3 is -% € to 4, 2is oppo- 4- 2 -6 .
site to 1 wher "'-.% 8 Opposite to 6. waously. S is opposite to 2, 1 is oppo-
. l; Look at the positions ofthe dice care- site to 6,
fully. Th pent surfaces of three dots Whereas 4 is opposite to 3.
surfac 0, four and six dots sur. 16. 2; Here, 3 is common surface.
face 4h&¥efore, these three surfaces 3-6-4
capp Pposite to the surface having 3-5-2
ots. _ Obviously, 6 is opposite to 5, 4 is oppo-
hus, lh_c st.xrface Opposite to three dots site 10 2, whereas 3 is opposite to 1.
msa::: r}z cc;thcr one dot surface or five 17.3; In the given positions two surfaces {2
6. 3; Here, 2 is co.rnmon surface dots and S dots) are common. ingin
2.1.5 ’ Therefore, the third suface remain 0
2.6 both the positions must be opposites -
Ol; > -3 i _ cach other. Hence, 3 dots surface is P
o vlougly, Sis Opposite to 3 1 is oppo- Posite to 4 dots surface. en
7. I N © 106, whereas 2 is opposite to 4. 18.4; Look at the positions 1 and 1 of-the §i% .
T Tr YIS, 1is comman surface, dice.
1-4.2 Here, we get
160
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Obviously, 4 is opposite 10 3,

2is
site to 5, whereas 1 js OpPpPosit °Ppo-

clo g




